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DI =X 1 129, 865, 382
ps+ T = 1 9, 542, 880
fE T m3 570 324,045 | HEHI (WOB)) 1 A
1A 3, 000m3A G fes 4
Rt T m3 10 37,307 |BEGRAIL) 1 E2
2. 5mAT ;
B4 G 1) 1 E2
2.5mPh 4. OmAT
FEHIA (=27) 1 =«
+ +850, 000m3ATH ;
A 1 X
R CEBEL EARY £
AR+ T m3 60 115,063 | B&fh (SE42) B+ 1 &N
2. bmAT ;
BRI (ZEER) S 1 X
2.5mPL 4. OmAT ;
BRI (ZEER) S 1 X
4. 0mPL E
FEIA (=27) 1 =
+a +850, 000m3ATH ;
WO E i 1 E2y
b CEHR - ERIRY LET) ;
HEARRE T m3 90 149, 627 | &R+ 1 X
2. 5mAT ;
RSt 1 X
2.5mPh 4. OmAT
RSt 1 X
4. 0mPL E
FEHIA (=27) 1 =«
+a +850, 000m3ATH ;
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Rkt A = 547,598 | {EmEETE (U) L) 590 m2
BUGHIREE Vg + W O £ kbt
TEHIEI (9] +50) 9 m2
BGHRE POaT ;
TEHEEI (B ) 130 m2
T i S O I BRI
P v T = 8, 369, 240
1 L = 111, 632
fiA T 2 111,632 | ALIEZ 160 m2
(bb¥)
Uit B L = 81, 838, 558
JERET = 2,981,570 | 155 KEU7" ny ) HpfE 61 m
25 KT ny ) JLHE 96 m
35 KA ny ) FaRE 41 m
77 ny R HERE T 2 7,948, 689 | KAYT ny/fk 100 m2
R ENZEE) 93 m3
15
JIR3A - JEARE (FF) 31 m3
FARAG RC-40 ;
WEAY )= 0.7 m3
15
77 ny R HERE T 2 22,029,919 | K7 nysfl 276 m2
R ENZEE) 233 m3
15
A - BEAKS (W) 87 m3
FARAG RC-40 ;
P37 -} 2 m3
15
7" ny ) REERE T, 2 23, 143, 647 | K7 ny)fl 258 m2
R ENZEE) 332 m3
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JIR3A - JEARE (FF) 81 m3
FARAG RC-40 ;
P37 -} 2 m3
15
77 my R HERE T X 1 1,662, 860 |BIEHT K uay -} 61 n
15
77 my R HERE T X 1 1,346, 400 | BIEHFT K uay -} 51 n
15
77 my S FEHERE T X 1 842,160 | BIELFTRisavs)—} 44 n
15
7" ny ) FEERE T, 2 1 1,091,580 | BIEHT K uay ) -} 49 m
15
JEIRE T = 1 20,791, 733 |a/))-} 382 m3
15
B Lavs)-h 189 m3
15
H ks 23 m2
TEFRHEE B AR t=10mm ;
H ks 358 m
R FVRTAE B H t=10mm ;
A 1 g2
PRI 8 T = 1 14, 025, 225
EELT = 1 1,972, 237
TEEEET = 1 3,741,079 |av))-} 84 m3
15 — A av)) - ME B
H HihR 0.7 m2
R F TR (3014 %10) t=10 ;
AL AR 7 m2
P 1 X
P 1 i
25 1 =
LaExy ML
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fRIEE T = 1 5,239,879 [av)-} 93 m3
1B — A 2v))-MEEEE I
H Hi 23 m2
VT W B Hid =10 ;
AT LR 88 m2
et A 1 =K
KN T 2 1 3,072,030 |av7)-p 124 m3
1B — A 2v))-MEEEIE I
H Hi 30 m2
VR WS B A =10
VA B R e L = 1 7,158, 166
EELT = 1 219, 890
B LA T 2 1 3,520,520 | HA¥E (KR BA (A 81 m
(BERRER)
& 1. 1m 2v))-babA ;
FABE 2 A
(159 5EE)
B
1B B 1A 3 E10
25 L B 1A AT
FRANIBA AT L X 1 500, 520 |4 =} V- 43 m
(Gr—C-4E)
BAESL Gr-C—4E 21mPL E50maATH i S 4if 1F M8
SRt T = 1 322,096 |A7y7° 82 PN
(2 H#4m)
® 19 W300 ;
TR AL T = 1 2,595, 140 |15 H Bk 89 m
LRk 184 m
R T = 1 1, 275, 650
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VRIS = 1 1,275,650 | T/E kA (B8 - BEE) 235 m2
BTy r77 RC-40 A VW E 150mm ;
I 235 m2
2/7)=p 18 t=150 ;
HEKHEY) T Y 1 893, 750
R T =Y 1 893, 750 | B H A BN 10 m
(15 B B AR
T 25 5 e
(G2 ZAE )
HEYE T Y 1 3,944, 771
fET =Y 1 635,553 | KA+ 5 ik 421 geS
IR AE R E 1, 500 m3
BEKE R E T = 1 1,564,716 | HEKE = 332 m
$ 1800 R30 ;
e ALEE T Y 1 1, 744,502 | BIGHREA ShiE 81. 94 t
A Y 1 11, 074, 750
KET =Y 1 4,347, 150
AEEH L Y 1 6, 727, 600
[ERAE Xy = 1 129, 865, 382
HiE 2 1 10, 985, 000
HiE R = 1 1, 207, 000
BGRESCGES (5 1) = 1 1, 207, 000
B (FEHL) = 1 9, 778, 000
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T AT X 177, 485, 382
— e PR 2V 28,214, 618
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